

Recurrence relations of multiparameter K-Mittag-Leffler function

Kuldeep Singh Gehlot*

Department of Mathematics, Government Bangur P.G. College, Pali-306401, Rajasthan, India.

Abstract

In this paper we evaluate the functional relation between Multiparameter K-Mittag-Leffler function defined by [2] and K-Series defined by [3]. Also we evaluate the recurrence relations and integral representation of Multiparameter K-Mittag-Leffler function. Some particular cases have been discussed.

Keywords: Multiparameter K-Mittag-Leffler function, K-Series, K-Pochhammer symbol, K- Gamma function.

2010 MSC: 26A33, 33B15, 33E12.

©2012 MJM. All rights reserved.

1 Introduction

In [8] the author introduce the generalized K-Gamma Function $\Gamma_k(x)$ as

$$\Gamma_k(x) = \lim_{n \rightarrow \infty} \frac{n!k^n (nk)^{\frac{x}{k}-1}}{(x)_{n,k}}, k > 0, x \in \mathbb{C} \setminus k\mathbb{Z}^-, \quad (1.1)$$

where $(x)_{n,k}$ is the k-Pochhammer symbol and is given by

$$(x)_{n,k} = x(x+k)(x+2k)\dots(x+(n-1)k), x \in \mathbb{C}, k \in \mathbb{R}, n \in \mathbb{N}^+. \quad (1.2)$$

K-Gamma function is given by,

$$\Gamma_k(x) = \int_0^\infty t^{x-1} e^{-\frac{t^k}{k}} dt, x \in \mathbb{C}, k \in \mathbb{R}, \operatorname{Re}(x) > 0, \quad (1.3)$$

and it follows easily that

$$\Gamma_k(x) = k^{\frac{x}{k}-1} \Gamma\left(\frac{x}{k}\right). \quad (1.4)$$

$$\Gamma_k(x+k) = x\Gamma_k(x). \quad (1.5)$$

$$(x)_{n,k} = k^n \left(\frac{x}{k}\right)_n. \quad (1.6)$$

$$(x)_{n,k} = \frac{\Gamma_k(x+nk)}{\Gamma_k(x)}. \quad (1.7)$$

$$nk(x)_{n-1,k} = (x)_{n,k} - (x-k)_{n,k}. \quad (1.8)$$

$$(x)_{n+j,k} = (x)_{j,k}(x+jk)_{n,k} \quad (1.9)$$

The Multiparameter K-Mittag-Leffler function defined by [2], as

*Corresponding author.

E-mail addresses: drksgehl@rediffmail.com (Kuldeep Singh Gehlot).

Definition 1.1. Let $k \in R_+ = (0, \infty)$; $a_j, b_r, \beta_i \in C$; $\eta_i \in R$ ($j = 1, 2, \dots, p$; $r = 1, 2, \dots, q$; $i = 1, 2, \dots, m$). Then the Multiparameter K-Mittag-Leffler function defined as,

$${}_pK_{q,k}^{(\beta,\eta)^m} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m; z] = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i)}, \tag{1.10}$$

where $\Gamma_k(x)$ is the K-Gamma function given by (1.1) and $(\gamma)_{n,k}$ is the K-Pochhammer symbol given by (1.2).

The series (1.10) is defined when none of the parameter b_r ($r = 1, 2, \dots, q$) is negative integer or zero. If any parameter a_j ($j = 1, 2, \dots, p$) in (1.10) is zero or negative, the series terminates into polynomial in z .

Convergent conditions for the series (1.10) are given by Ratio test,

- (i) If $p < q + \sum_{i=1}^m (\frac{\eta_i}{k})$, then the power series on the right of (1.10) is absolutely convergent for all $z \in C$.
- (ii) If $p = q + \sum_{i=1}^m (\frac{\eta_i}{k})$, then the power series on the right of (1.10) is absolutely convergent for all $|k^{p-q-\sum_{i=1}^m (\frac{\eta_i}{k})} z| < \prod_{i=1}^m (|\frac{\eta_i}{k}|)^{\frac{\eta_i}{k}}$ and $|k^{p-q-\sum_{i=1}^m (\frac{\eta_i}{k})} z| = \prod_{i=1}^m (|\frac{\eta_i}{k}|)^{\frac{\eta_i}{k}}$, $Re(\sum_{r=1}^q (\frac{b_r}{k}) + \sum_{i=1}^m (\frac{\beta_i}{k}) - \sum_{j=1}^p (\frac{a_j}{k})) > \frac{2+q+m-p}{2}$.

2 Main Results

In this section we evaluate the functional relation between Multiparameter K-Mittag-Leffler Function and K-Series. Also we evaluate the recurrence relations and integral representation of Multiparameter K-Mittag-Leffler Function. Nine particular cases have been evaluated for different values of parameters.

Theorem 2.1. The functional relation between Multiparameter K-Mittag-Leffler function and K-Series is given by,

$$\begin{aligned} &{}_pK_{q,k}^{(\beta,\eta)^m} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m; z] \\ &= k^{\sum_{i=1}^m (1-\frac{\beta_i}{k})} {}_pK_q^{(\beta,\eta)^m} [(\frac{a_j}{k})_{j=1}^p; (\frac{b_r}{k})_{r=1}^q, (\frac{\beta_i}{k}, \frac{\eta_i}{k})_{i=1}^m; zk^{p-q-\sum_{i=1}^m \frac{\eta_i}{k}}]. \end{aligned} \tag{2.1}$$

And its counter part is given by

$$\begin{aligned} &{}_pK_q^{(\beta,\eta)^m} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m; z] \\ &= k^{\sum_{i=1}^m (\beta_i-1)} {}_pK_{q,k}^{(\beta,\eta)^m} [(ka_j)_{j=1}^p; (kb_r)_{r=1}^q, (k\beta_i, k\eta_i)_{i=1}^m; zk^{\sum_{i=1}^m \eta_i+q-p}]. \end{aligned} \tag{2.2}$$

Proof. From equation (1.10), we have

$$A \equiv {}_pK_{q,k}^{(\beta,\eta)^m} [z] = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i)},$$

using equations (1.4) and (1.6), we obtain

$$\begin{aligned} A &\equiv \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p k^{pn} (\frac{a_j}{k})_n z^n}{\prod_{r=1}^q k^{qn} (\frac{b_r}{k})_n \prod_{i=1}^m k^{\frac{\eta_i n + \beta_i}{k} - 1} \Gamma(\frac{\eta_i}{k} n + \frac{\beta_i}{k})}, \\ A &\equiv k^{\sum_{i=1}^m (1-\frac{\beta_i}{k})} \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (\frac{a_j}{k})_n (zk^{p-q-\sum_{i=1}^m \frac{\eta_i}{k}})^n}{\prod_{r=1}^q (\frac{b_r}{k})_n \prod_{i=1}^m \Gamma(\frac{\eta_i}{k} n + \frac{\beta_i}{k})}, \\ A &\equiv k^{\sum_{i=1}^m (1-\frac{\beta_i}{k})} {}_pK_q^{(\beta,\eta)^m} [(\frac{a_j}{k})_{j=1}^p; (\frac{b_r}{k})_{r=1}^q, (\frac{\beta_i}{k}, \frac{\eta_i}{k})_{i=1}^m; zk^{p-q-\sum_{i=1}^m \frac{\eta_i}{k}}]. \end{aligned}$$

□

Theorem 2.2. Let $b \in C, \beta \in R$ and the convergent conditions of Multiparameter K-Mittag-Leffler function are satisfied, then

$$\begin{aligned} &{}_pK_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (b, \beta); z] \\ &= b {}_pK_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (b+k, \beta); z] \\ &+ \beta z \frac{d}{dz} {}_pK_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (b+k, \beta); z]. \end{aligned} \tag{2.3}$$

Proof. Consider the right hand side of equation (2.3) and using equation (1.10), we have

$$\begin{aligned}
 A &\equiv b {}_pK_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (b+k, \beta); z] \\
 &+ \beta z \frac{d}{dz} {}_pK_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (b+k, \beta); z], \\
 A &\equiv b \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\beta n + b + k)} \\
 &+ \beta z \frac{d}{dz} \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\beta n + b + k)}, \\
 A &\equiv \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} (\beta n + b) z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\beta n + b + k)},
 \end{aligned}$$

using equation (1.5), we obtain

$$A \equiv {}_pK_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (b, \beta); z].$$

□

Theorem 2.3. Let $a \in \mathbb{C}$ and the convergent conditions of Multiparameter K-Mittag-Leffler Function are satisfies, then

$$\begin{aligned}
 &{}_{p+1}K_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p, a+k; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (k, 1); z] \\
 &- {}_{p+1}K_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p, a; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (k, 1); z] \\
 &= \frac{kz \prod_{j=1}^p (a_j)}{\prod_{r=1}^q (b_r)} {}_pK_{q,k}^{(\beta+\eta,\eta)^{m+1}}[(a_j+k)_{j=1}^p; (b_r+k)_{r=1}^q, (\beta_i+\eta_i, \eta_i)_{i=1}^m, (1, 1); z].
 \end{aligned} \tag{2.4}$$

Proof. Consider the left hand side of equation (2.4) and using equation (1.10), we have

$$\begin{aligned}
 A &\equiv {}_{p+1}K_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p, a+k; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (k, 1); z] \\
 &- {}_{p+1}K_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p, a; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (k, 1); z], \\
 A &\equiv \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(n+k)} [(a+k)_{n,k} - (a)_{n,k}],
 \end{aligned}$$

using equation (1.8), we obtain

$$A \equiv \sum_{n=1}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(n+k)} [nk(a+k)_{n-1,k}],$$

replacing n by $n + 1$, we obtain

$$A \equiv \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n+1,k} z^{n+1}}{\prod_{r=1}^q (b_r)_{n+1,k} \prod_{i=1}^m \Gamma_k(\eta_i(n+1) + \beta_i) \Gamma_k(n+1+k)} [(n+1)k(a+k)_{n,k}],$$

using equations (1.5) and (1.9), we obtain

$$\begin{aligned}
 A &\equiv \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{1,k} (a_j+k)_{n,k} z^{n+1} [(n+1)k(a+k)_{n,k}]}{\prod_{r=1}^q (b_r)_{1,k} (b_r+k)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i + \eta_i)(n+1) \Gamma_k(n+1)}, \\
 A &\equiv \frac{kz \prod_{j=1}^p (a_j)}{\prod_{r=1}^q (b_r)} {}_pK_{q,k}^{(\beta+\eta,\eta)^{m+1}}[(a_j+k)_{j=1}^p; (b_r+k)_{r=1}^q, (\beta_i+\eta_i, \eta_i)_{i=1}^m, (1, 1); z].
 \end{aligned}$$

□

Theorem 2.4. Let $\beta \in C, \text{Re}(\beta) > 0, \alpha \in R$ and the convergent conditions of Multiparameter K-Mittag-Leffler Function are satisfies, then

$$\begin{aligned}
 & {}_pK_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + k, \alpha); z] \\
 & - k {}_pK_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 2k, \alpha); z] \\
 & = z^2 \alpha^2 {}_p\check{K}_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 & + z \{ \alpha^2 + 2\alpha(\beta + k) \} {}_p\check{K}_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 & + \beta(\beta + 2k) {}_pK_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z].
 \end{aligned} \tag{2.5}$$

Proof. From equations (1.10) and (1.5), we have

$$\begin{aligned}
 & {}_pK_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + k, \alpha); z] \\
 & = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i)(\alpha n + \beta) \Gamma_k(\alpha n + \beta)}.
 \end{aligned} \tag{2.6}$$

Again,

$$\begin{aligned}
 & {}_pK_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 2k, \alpha); z] \\
 & = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i)(\alpha n + \beta + k)(\alpha n + \beta) \Gamma_k(\alpha n + \beta)} \\
 & = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta)} \frac{1}{k} \left[\frac{1}{(\alpha n + \beta)} - \frac{1}{(\alpha n + \beta + k)} \right]
 \end{aligned} \tag{2.7}$$

using equation (2.6), we obtain

$$\begin{aligned}
 S & = {}_pK_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + k, \alpha); z] \\
 & - k {}_pK_{q,k}^{(\beta,\eta)^{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 2k, \alpha); z].
 \end{aligned} \tag{2.8}$$

Where

$$S = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta)(\alpha n + \beta + k)}. \tag{2.9}$$

Applying a simple identity $\frac{1}{u} = \frac{k}{u(u+k)} + \frac{1}{(u+k)}$, for $u = \alpha n + \beta + k$ to equation (2.9), we obtain

$$\begin{aligned}
 S & = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta)} \\
 & \times \left[\frac{k}{(\alpha n + \beta + k)(\alpha n + \beta + 2k)} + \frac{1}{(\alpha n + \beta + 2k)} \right], \\
 S & = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta)} \\
 & \times \left[\frac{k(\alpha n + \beta)}{(\alpha n + \beta)(\alpha n + \beta + k)(\alpha n + \beta + 2k)} + \frac{(\alpha n + \beta)(\alpha n + \beta + k)}{(\alpha n + \beta)(\alpha n + \beta + k)(\alpha n + \beta + 2k)} \right],
 \end{aligned}$$

using equation (1.5), we have

$$S = \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n [n^2 \alpha^2 + 2n\alpha(\beta + k) + \beta(\beta + 2k)]}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta + 3k)}. \tag{2.10}$$

We express each summation in right side of (2.5) as follows;

$$\begin{aligned}
 & \frac{d}{dz} \{z {}_p K_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z]\} \\
 &= \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} (n+1) z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta + 3k)}, \\
 & z {}_p \dot{K}_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 &+ {}_p K_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 &= \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} (n+1) z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta + 3k)}, \\
 & z {}_p \ddot{K}_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 &= \sum_{n=0}^{\infty} \frac{n \prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta + 3k)}. \tag{2.11}
 \end{aligned}$$

Again

$$\begin{aligned}
 & \frac{d^2}{dz^2} \{z^2 {}_p K_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z]\} \\
 &= \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} (n+2)(n+1) z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta + 3k)}, \\
 & z^2 {}_p \dot{K}_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 &+ 4z {}_p K_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 &+ 2 {}_p K_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 &= \sum_{n=0}^{\infty} \frac{(n^2 + 3n + 1) \prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta + 3k)},
 \end{aligned}$$

using equation (2.11)

$$\begin{aligned}
 & z^2 {}_p \ddot{K}_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 &+ z {}_p \dot{K}_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 &= \sum_{n=0}^{\infty} \frac{n^2 \prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta + 3k)}. \tag{2.12}
 \end{aligned}$$

using equations (2.11), (2.12) in equation (2.10), we obtain

$$\begin{aligned}
 S &= z^2 \alpha^2 {}_p \dot{K}_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 &+ z \{ \alpha^2 + 2\alpha(\beta + k) \} {}_p \dot{K}_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z] \\
 &+ \beta(\beta + 2k) {}_p K_{q,k}^{(\beta,\eta)^{m+1}} [(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta + 3k, \alpha); z].
 \end{aligned}$$

□

Theorem 2.5. Let $\beta \in \mathbb{C}, \operatorname{Re}(\beta) > 0, \alpha \in \mathbb{R}$ and the convergent conditions of Multiparameter K-Mittag-Leffler function are satisfied, then

$$\begin{aligned} & \int_0^1 t^{\beta+k-1} {}_pK_{q,k}^{(\beta,\eta)_{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta, \alpha); t^\alpha] dt \\ &= {}_pK_{q,k}^{(\beta,\eta)_{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta+k, \alpha); 1] \\ & - k {}_pK_{q,k}^{(\beta,\eta)_{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta+2k, \alpha); 1]. \end{aligned} \quad (2.13)$$

Proof. Put $z = 1$ in equations (2.8) and (2.9), we have

$$\begin{aligned} S &= {}_pK_{q,k}^{(\beta,\eta)_{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta+k, \alpha); 1] \\ & - k {}_pK_{q,k}^{(\beta,\eta)_{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta+2k, \alpha); 1] \\ &= \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k}}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta) (\alpha n + \beta + k)}. \end{aligned} \quad (2.14)$$

Consider the left hand side integral,

$$A \equiv \int_0^1 t^{\beta+k-1} {}_pK_{q,k}^{(\beta,\eta)_{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta, \alpha); t^\alpha] dt,$$

using equation (1.10), we have

$$\begin{aligned} A &\equiv \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta)} \int_0^1 t^{\alpha n + \beta + k - 1} dt, \\ A &\equiv \sum_{n=0}^{\infty} \frac{\prod_{j=1}^p (a_j)_{n,k} z^n}{\prod_{r=1}^q (b_r)_{n,k} \prod_{i=1}^m \Gamma_k(\eta_i n + \beta_i) \Gamma_k(\alpha n + \beta) (\alpha n + \beta + k)}, \end{aligned}$$

from equation (2.14), we obtain

$$\begin{aligned} A &\equiv {}_pK_{q,k}^{(\beta,\eta)_{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta+k, \alpha); 1] \\ & - k {}_pK_{q,k}^{(\beta,\eta)_{m+1}}[(a_j)_{j=1}^p; (b_r)_{r=1}^q, (\beta_i, \eta_i)_{i=1}^m, (\beta+2k, \alpha); 1]. \end{aligned}$$

□

2.1 Particular Cases

The particular cases of this paper are given by particularizing the values of parameters, we obtain the result for different known Mittag-Leffler Functions, given as:

(a) If we set $k = 1$, then we obtain the results for K-Series defined by [3].

(b) If we set $k = 1, p = q = m$ and $b_1 = b_2 = \dots = b_m = 1$, we obtain the results for the 3M-Parameter Multi-Index Mittag-Leffler function defined by [4].

(c) If we set $k = 1, p = q = 1, a_1 = \rho, b_1 = 1$, then we obtain the results for the Generalized Mittag-Leffler function studied by [5].

(d) If we set $k = 1, p = q = 1, a_1 = b_1 = 1$ and $\eta_i = \frac{1}{\alpha_i}$, then we obtain the results for the Multi-Index Mittag-Leffler function studied by [10].

- (e) If we set $k = 1, m = 1$, then we obtain the results for Generalized M-Series defined by [9].
- (f) If we set $p = q = m = 1, a_1 = \delta, b_1 = k$, then we obtain the results for the K- Mittag-Leffler function studied by [1].
- (g) If we set $k = 1, p = q = m = 1, a_1 = \delta, b_1 = 1$, then we obtain the results for the Generalized Mittag-Leffler function studied by [7].
- (h) If we set $k = 1, p = q = m = 1, a_1 = b_1 = 1$, then we obtain the results for the Mittag-Leffler function studied by [11].
- (i) If we set $k = 1, p = q = m = 1, a_1 = b_1 = 1$ and $\beta = 1$, then we obtain the results for the Mittag-Leffler function studied by [6].

References

- [1] Dorrego, G.A. and Cerutti, R.A. The K-Mittag-Leffler function, *Int. J. Contemp. Math. Sciences*, 7(15)(2012), 705-716.
- [2] Gehlot, Kuldeep Singh, Multiparameter K-Mittag-Leffler function, *International Mathematical Forum*, 8(34)(2013), 1691 - 1702.
- [3] Gehlot, Kuldeep Singh and Chena Ram, Integral Representation of K-Series, *International Transactions in Mathematical Sciences and Computers*, 4(2)(2012), 387-396.
- [4] Konovska, Paneva Jordanka, Three-Multi-Index Mittag-Leffler functions, *Series and Convergence Theorem, Proceeding of FDA'2012 symposium, Nanjing, China*, Paper No. 284, FDA 2012.
- [5] Luchko, Yu. F. and Yakubovich, S.B., An operational method for solving some class of introducedifferential equations(Russian), *Differ. Uravn.*, 30, 269-280; translation in *Differential Equation*, 30, 247-256. What is the year?
- [6] Mittag-Leffler, G. Sur la nouvelle fonction $E_\alpha(z)$, *C.R Acad. Sci. Paris*, 137(1903), 554-558.
- [7] Prabhakar, T.R., A singular integral equation with a generalized Mittag-Leffler function in the kernel, *Yokohama Math. J.*, 19(1971), 7-15.
- [8] Rafael Diaz and Eddy Pariguan. On hypergeometric functions and Pochhammer k-symbol, *Divulgaciones Mathematics*, 15(2)(2007), 179-192.
- [9] Sharma, M., Jain, Renu, A note on generalized M-Series as a special function of fractional calculus, *Fractional Calculus and Applied Analysis*, 12(4)(2009), 449-452.
- [10] Virginia S. Kiryakova, Multiple (multindex) Mittag-Leffler functions and relations to generalized fractional calculus, *Journal of Computational and Applied Mathematics*, 118(2000), 241-259.
- [11] Wiman. A., Uber den fundamental Satz in der Theories der Funktionen $E_\alpha(z)$, *Acta Math.*, 29(1905), 191-201.

Received: November 11, 2013; Accepted: February 26, 2014

UNIVERSITY PRESS

Website: <http://www.malayajournal.org/>